0 3 EERBSE AT EE
(FEEEE) AR XK
IR A AR

PART ONE Read the following passage and answer the questions on the answer sheet.
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(Adapted from Caroline Criado Perez, Invisible Women: Exposing Data Bias in a World
Designed for Men, 2002)



1. In paragraph 1, which word is closest in meaning to “keep their noses out of”’?
A. assess
B. avoid
C. evaluate

D. investigate
2. Put paragraphs A, B, C, D, and E in the correct order.

3. According to paragraph E, which sentence is NOT true:
A. Men in Europe are less likely to take their children to school than women.
B. Men in London are more likely to trip-chain than women.
C. Women in dual-worker families are more likely to take their children to school
than men.

D. Working women with very young children are most likely to trip-chain.

4. Which of the following best summarizes the main ideas in paragraph 77
A. Men purposefully created the original snow-clearing schedule to benefit
themselves.

B. Men purposefully created the original snow-clearing schedule to benefit women.

O

The original snow-clearing schedule was based on men’s needs.

D. The original snow-clearing schedule was based on women’s needs.



PART TWO Read the following passage and answer the questions on the answer sheet.

DRI I N T VB LEIC DWW,
FEMEE FoRE» S T2 2 &
TEFHADT, TTEENET,



ZOERSFICEE I N T W B XEIC DO WTIL,
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TEFHADT, TTHEFENE T,

(Adapted from “Stonehenge™, History.com, online, 2020)



. In paragraph 2, which word is closest in meaning to “baffling”?
A. annoying

B. confusing

C. serious

D. strong

. In paragraph 4, it is stated that

A. horses were used by builders in the formation.
B. just over half of the bluestones are there today.
C. the bluestones were placed in straight lines.

D. the bluestones were rolled into upright positions.

. In paragraph 6, “they” refers to
A. boards.

B. builders.
C. ropes.
D.

Sarscns.

. In paragraph 9, some scientists have argued that

A. the stones may have been transported by Neolithic builders.
B. the stones may have rolled by themselves.

C. the stones were moved by glaciers.

D. the stones were rolled by Neolithic builders.

. In paragraph 10, it is suggested that the majority of archeologists

A. are confidentin the theory about glaciers.

B. are investigating the forces of nature responsible for moving the stones.
C. are trying to calculate the exact number of stones needed.

D. are unconvinced about the theory about glaciers.

. Which of the following statements is NOT true of the text?

A. Numerous theories exist about Stonehenge.

B. Scientists do not know how the sarsen stones were moved.
C. Stonehenge was completed in 2000 B.C.

D. The bluestones came from far away.



PART THREE Describe your experience of visiting a historical place and explain why
this experience was memorable. Explain your ideas in an English essay of about 150

words.



